

MISSOURI GAMING COMMISSION BINGO DIVISION PO BOX 1847 JEFFERSON CITY, MISSOURI 65102 573-526-5370

SAMPLE

BINGO/PULL TAB OCCASION REPORT

FOR OPERATOR'S RECORDS ONLY--DO NOT SUBMIT
TO THE MISSOURI GAMING COMMISSION.

104 (REV. 03-01) Page 1

FORM

COMPLETE ONE PER OCCASION FOR YOUR RECORDS ONLY

NAME OF ORGA								
DAY OF OCCASION Monday	OF OCCASION DATE OF OCCASION		NGO LICENSE NUMB 3-0001	START TIME: 70: END TIME: 10:	7:00 pm	NUMBER OF PLAYERS 138		NUMBER OF BINGO GAMES 27
PROGRESS	SIVE GA	ME INFOR	RMATION					
1. First Prog		PF	ROGRESSIVE JACKPO RIZE OFFERED: 1199.00	5600.00	PRIZE OFFERED:	NUMBER OF BALLS NEED WIN JACKPOT: 52	ED TO	ACTUAL PRIZE AMOUNT AWARDED: \$600.00
Second Progressive N/A		VO PE	ROGRESSIVE JACKPO		PRIZE OFFERED:	NUMBER OF BALLS NEEDED TO WIN JACKPOT:		ACTUAL PRIZE AMOUNT AWARDED:
GROSS RE	CEIPTS						-	
		B GROSS	RECEIPTS	(Schedule A	(Total)		3	\$ 2017.00
	022		BINGO CA		· · · otally		10	\$ 2017.00
Bingo (Descrip		Beginning Count		# of Cards Sold	Price Pe Card	r # of Cards S X Price Per		
A. 9on20 ff po		150	12	138	15.00	\$ 2070.00	A	1
B. 9on20 addin		150	8	142	10.00	\$ 1420.00	В	
C.60n6 early	birds	85	4	81	5.00	\$ 405.00	C	1
D. 3on yellow s	special	75	6	69	1.00	\$ 69.00	D	1
E.3on orange	special	75	11	64	1.00	\$ 64.00	E	
F.3on blue spe	ecial	75	3	72	1.00	\$ 72.00	F	
G.90n progres	ssive	175	12	163	5.00	\$ 815.00	G]
H.3on progres	ssive	50	9	41	2.00	s 82.00	Н	
l.						\$	1	
J.						\$	J	1
K.		-				S	K	1
A TOTAL O	20000	AL EO DIA	100 04 00	0 (4 111)		S	L	
				S: (Add Lines		Jn L)	4	\$ 4997.00
	the second second second		'IS (Daube	rs, Glue Sticl	ks, etc)		5	\$ 25.50
6. STARTIN	A. Correction of the Correction						6	\$ 1200.00
TOTAL GROSS RECEIPTS (Add Lines 3 through 6)							\$ 8239.50	
PRIZES AW								
7. TOTAL F	PULL TAI	B PRIZES	AWARDED) (Schedule (C Total)		7	\$ 916.00
8. TOTAL BINGO PRIZES AWARDED (Schedule B Total)						8	\$ 4100.00	
TOTAL PRIZES AWARDED (Add Line 7 & 8)						\$ 5016.00		
NET RECEI	PTS							
9. NET REC	CEIPTS (Total Gros	ss Receipts	less Total Pi	rizes Awa	rded)	9	\$ 3223.50
AMOUNT D	EPOSITI	ED						Va. 130 2 - 10 7
10. ACTUA	L AMOU	NT DEPO	SITED FOR	THIS OCC	ASION		10	\$ 3220.00
SIGNATURE OF PREPARER						DATE		
John Doe (Jo	ohn Doe)							10/4/99

Form 104 Page 2

Α	В	С	D	E	F	G
Name of Deal	Serial #	Sales Price (\$.25, \$.50, \$1)	Beginning Count	Ending Count	Number of Pull Tabs Sold (D - E)	Gross Sales (C X F)
Winner Take All	123456	\$.25	3999	1061	2938	\$734.50
Jackpot 7s	789123	\$.50	432	0	432	\$216.00
Happy Trails	456789	\$.50	2399	1784	615	\$307.50
Diamonds Forever	987654	\$1.00	817	58	759	\$759.00
Total Pull Tab Gross Receip	ts			A		\$2017.00

Form 104 Page 3	
Page 3	

# OF GAMES	3 - BINGO PRIZES AWARDED DESCRIPTION: PRIZE FOR GAME, NUMBER	R OF WINNERS AMOUNT PAID
# OF GAIVIES	AND AMOUNT PAID TO EACH	
1	Early Bird \$50 2 winners @ \$25	\$50.00
2	Early Bird \$50	\$50.00
3	Early Bird \$50	\$50.00
4	Early Bird \$50 4 winners @ \$12.50	\$50.00
5	Early Bird \$50	\$50.00
6	Early Bird \$50	\$50.00
7	Regular \$100	\$100.00
8	Regular \$100	\$100.00
9	Layer Cake \$300	\$300.00
10	Regular \$100	\$100.00
11	Regular \$100	\$100.00
12	Baseball Diamond \$200	\$200.00
13	Regular \$100	\$100.00
14	Progressive Coverall - Consolation paid \$600	\$600.00
15	Regular \$100	\$100.00
16	Six Pack \$100	\$100.00
17	Regular \$100	\$100.00
18	Large Picture Frame \$200	\$200.00
19	Regular \$100	\$100.00
20	Postage Stamp \$100	\$100.00
21	Snowflake \$400 2 winners @ \$200	\$400.00
22	Regular \$100	\$100.00
23	Hard Way Bingo \$100	\$100.00
24	Regular \$100	\$100.00
25	Crazy L \$200	\$200.00
26	Regular \$100	\$100.00
27	Coverall \$500	\$500.00
otal Bingo I	Prizes Awarded	\$4100.00

Form 104 Page 4

SCHEDULE C - PULL TAB PRIZES AW	d of the game in order to verify	navout
All winners should be kept until the en NAME OF GAME	SERIAL NUMBER	AMOUNT PAID OUT
Winner Take All	123456	\$216.50
Tackpot 7s	789123	\$2.50
Happy Trails	456789	\$179.00
Diamonds Forever		\$518.00
Jiamonas rorever	987654	\$516.00
		The last transfer of the last
Total Pull Tab Prizes Awarded		\$916.00